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MNS SET-2 TRISHUL DEFENCE ACADEMY
Section-1 English

Antonyms (b) Build

1. Facsimile (c) Restore
(a) Reproduction (d) Relieve
(b) Sincere
(c) Original Synonyms

(d) Engineered

Belie

(a) Argue

(b) Justify

(c) Admire
(d) Approve

Fecund

(a) Barren

(b) Solid

(c) Unploughed
(d) Hard

Sullen

(a) Dirty
(b) Cheerful
(c) Clean
(d) Risen

Detain
(a) Release

(b) Silence
(c) Forget
(d) Prosper

Kindle

(a) Ignite
(b) Encourage
(c) Ignore
(d) Extinguish

Precarious
(a) Dangerous
(b) Safe

(c) Cautious
(d) Easy

Profane

(a) Arrogant
(b) Benign
(c) Respectful
(d) Pious

Nadir

(a) Progress
(b) Liberty
(c) Zenith
(d) Modernity

10. Wreck

(a) Make

www.trishuldefenceacademy.in

11. Abrogate

(a) Repeal
(b) Destroy
(c) Delay

(d) Dismiss

. Interpid

(a) Ambitious
(b) Determined
(c) Talkative
(d) Fearless

. Colossal

(a) Famous

(b) Vigorous
(c) Energetic
(d) Enormous

. Obnoxious

(a) Depressing
(b) Disgusting
(c) Arrogant
(d) Filthy

. Mania

(a) Madness
(b) Wisdom
(c) Greatness
(d) Fame

. Nexus

(a) Connection
(b) Distance
(c) Deficit

(d) Difference

. Jubilant

(a) Brilliant
(b) Proud

(c) Ecstatic
(d) Gloomy

. Tranquil

(a) Tremendous
(b) Dynamic
(c) Treacherous
(d) Peaceful

. Zealous

(a) Ardent
(b) Jealous
(c) Furious
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(d) Impatient

20. Pacify
(a) Calm down
(b) Satisfy
(c) Rouse
(d) Rejoice

Directions: Choose the one which best expresses the
meaning of the given Idioms & Phrases.
21. All agog

(a) Everybody

(b) All ready

(c) Restless

(d) Almighty

. To lose one’s head
(a) Togo mad
(b) To become nervous
(c) To become confused and over excited
(d) To lose the balance

. To spell the beans
(a) To reveal secret information
(b) To misbehave
(c) To keep secrets
(d) To talk irrelevant

. To read between the lines
(a) To concentrate
(b) To read carefully
(c) To suspect
(d) To grasp the hidden meaning

. To be up and doing
(a) Torecover from illness
(b) To be actively engaged
(c) To progress satisfactorily
(d) To be expressive and explicit

. Astorm in a teacup
(a) Unexpected event
(b) A danger signal
(c) Much excitement over something trivial
(d) A great noise

. To accept the Gauntlet
(a) To accept defeat
(b) To accept a challenge
(c) To suffer humiliation
(d) To accept an honour

. French leave
(a) Long absence
(b) Leave on the pretext of illness
(c) Casual leave
(d) Absence without permission

. To lose face
(a) To look angry

www.trishuldefenceacademy.in

TRISHUL DEFENCE ACADEMY

(b) To be humiliated
(c) To be helpless
(d) To look vacant
30. Todrink like a fish
(a) Todrink little
(b) To drink alone
(c) To be adrunkard
(d) Todrink in the company of others

Directions: Find our error, if any.
31. He is a university professor (a)/ but of his three
sons (b)/ neither has any merit. (c)/ No error (d)

32. He was so afraid (a)/ that his knees (b)/ knocked
one another. (c)/ No error (d)

. When one hears of the incident (a)/ about the
plane crash (b)/ he feels very sorry. (c)/ No error

(d)

. The crowd of angry students (a)/ ordered the (b)/
closing of shops. (c)/ No error (d)

. The manager has (a)/ confidence in the engineer
(b)/ ability to design the new software. (c)/ No
error (d)

. The Reserve Bank of India’s decision (a)/ to
waive ATM charges have put (b)/ Banks in a
difficult position. (c)/ No error (d)

. I have no problem as there are (a)/ few
passengers in (b)/ the compartment today. (c)/
No error (d)

. He is going everyday (a)/ for a morning walk (b)/
with his friends and neighbours. (c)/ No error (d)

. India (a)/ had got freedom (b)/ in 1947. (c)/ No
error (d)

. Of all the models (a)/ Jessica is (b)/ more good
looking one. (c)/ No error (d)

Directions: Fill in the blanks.
41. If permits, we will go out for a walk.
(@) climate
(b) wether
(c) weather
(d) whither

. The were arrested for illegally hunting
the bears.

(a) poachers

(b) rangers

(c) soldiers

(d) villagers
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43. Man does not live by alone.
(a) diet
(b) food
(c) meals
(d) bread

. The river overflowed its and flooded the

area.
(a) banks
(b) limits
(c) edges
(d) fronts

. The driver suddenly applied the brakes when the
saw a truck ahead of him.

(a) static

(b) solitary
(c) stationary
(d) immobile

. 1 went to the shop to buy some
(a) stationery
(b) stationary
(c) stationaries
(d) stationeries
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. Rabindarnath Tagore was a writer of his

time.

(@) true

(b) fantastic
(c) profound
(d) prolific

. Prices during the war.

(@) raise
(b) risen
(c) rise
(d) raising

. We the picture on the wall.

(@) hung
(b) hanged
(c) hang
(d) hanging

. He his living by hard work.

(a) earns
(b) wins
(c) creates
(d) ables
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Section 2 General Intelligence
51. gTaTeT 3R #Agrae St e F g gaifa
#H fasrera gu ?
@) IuH
(b) Efactrr
(c) Jer
(d) =gd

. ®ade # e qieT Fgl T § ?
(@) 3=

(b) 31fFeT

(c) a®or

(d) &=

. RIS T 947 I fha-fohw & o gan
ar ?

(a) FEFAG TN 3R gedr T @lgreT
(b) AeFAG I 3R = FP@w

(c) HigFAE TN 3R =T e

(d) FgFAe MY 3R T T R

. 3RS A ST F e ] fhar Aur?

(a) 1668
(b) 1678
(c) 1670
(d) 1679

.aY 1873 H HcIMUS FHTST hl TATIAT
forger T ot 2

(a) TSIRTH HgeT T

(b) eI ST

(c) SafasT o

(d) $eavds faeIMEMER

. §9TTel T AT for ay g3 ar ?
(a) a¥ 1905

(b) a¥ 1907

(c) a¥ 1911

(d) a¥ 1913

. AGTA3TCTH el & AT cd § ?
(a) el

(b) 3Ter gcer

(c) AR

(d) afferEg

51. Hinayana and Mahayana were divided into which

group of Buddhism?
(a) first

(b) second

(c) third

(d) fourth

. Who is called Purandar in Rigveda?

(@) Indra
(b) Agni
(c) Varuna
(d) Som

. The first battle of Tarayan was fought between

whom?

() Mohammad Ghori and Prithvi Raj Chauhan
(b) Mohammad Ghori and Rana Sanga

(c) Mohammad Ghori and Rana Kumbha

(d) Mohammad Ghori and Rana Ratan Singh

. When did Aurangzeb introduce Jizya tax?

(a) 1668
(b) 1678
(c) 1670
(d) 1679

. Who founded the Satyashodhak Samaj in the

year 18737

(a) Rajaram Mohan Roy

(b) Radhakanta Dev

(c) Jyotiba Phule

(d) Ishwarchandra Vidyasagar

. In which year the partition of Bengal took place?

(a) 1905
(b) 1907
(c) 1911
(d) 1913

. Where is the classical dance of Mohaniyattam?

(a) Kerala

(b) Andhra Pradesh
(c) Manipur

(d) Tamil Nadu




58. FAT FEl BT AEAT 5T & ?

(a) 3nf3am

(b) AfOTgT

(c) 3raH

(d) e

favante oz forg dreg aw7 & gwftd &
(a) dsrer

(b) Rrer

(c) drom

(d) AR
faefaf@a # @ &g a1 v @k 9Rar &1
{Y 3T 39958 & ?

(a) eTSeet

OEUGIEEH

(c) Zar

(d) rere

. IgIgur ford fafyr & oerar § 2

(a) HGEIT I
(b) qfot#AT 1
(c) T Hr

(d) 3TSEHT Fr
. frfafAea uda A +gr afeua § 2

(a) sear

(b) SesTa

(c) denferar

(d) |rATferT

. AIgHSS H FIeel STS-HIFaTgs & fohefell

HMET 918 ST § 2
0.03%

0.05 %

0.08 %

0.5%

. T Y 9T & g g 7 afeug ¥ 2
(a) TIFA ToT ARHT

(b) STH=AT

(c) &F

(d) o

. Where is the classical dance of Sattriya?
(a) Odisha

(b) Manipur

(c) Assam

(d) Kerala

. Vishwamohan Bhatt is related to which musical
instrument?
(a) Tabla
(b) Guitar
(c) Veena
(d) Sitar

. Which one of the following is the largest satellite
of the solar family?
(a) Titan
(b) Ganymid
(c) Europa
(d) Tritan

. On which date does the lunar eclipse take place?
(&) Amavasya
(b) on the full moon
(c) Panchami
(d) on Ashtami

. Where is the Mount Kiliminjaro located?
(@) Kenya
(b) Zimbabwe
(c) Tanzania
(d) Somalia

. How much amount of carbon dioxide is found in
the atmosphere?
(@) 0.03%

(b) 0.05 %
(c) 0.08%
(d) 0.5%

. In which country of the world is the Kiel Canal
located?
(a) United States of America

(b) Germany
(c) Russia
(d) China




65. 3TSiclell H UTT ooy arer farsor shfesaeir

g9 & HeT T FAT FHgl SATar g ?
(a) HdreT

(b) &I

(C) Socdexr

(d) s34

. 3o hifd &l Feaey fhad g ?
(a) ACET 3cUTeaT &

(b) 37T 3cUieeT &

(c) THATE 3cUrgeT &

(d) el 3cUTeeT &

. Aifores Fdear o1 fhg gr & agoT foar
AT ?

(a) AR

(b) |AHT TT ()

(c) oImdTeT

(d) B E

. TN & ANRFHR &7 dfau= & v
3[oE H 3ol § ?

(a) 3feee 14-18

(b) 3refesse 19 -22

(c) 3iefesie 23-24

(d) 3ifese 25-28

. gafed = 1 fhE 3eoe & ded
Re afr et 1 3™HR e § 2

(a) 3Teoe 226

(b) 31TeSe 32

(c) 3I=de 35

(d) 3rTeSe 31

. AT @ & FeHT Fed & AU SgAdH
3y @ iR § 2

(a) 21 a¥

(b) 25 ay

(c) 30 Ay

(d) 35 ay

. What is the temperate grassland found
Argentina called?
(a) Savannah

(b) Pampas
(c) Canterbury
(d) Downs

. With whom is the Silver Revolution related?
(a) fish production

(b) egg production
(c) Tomato production
(d) fruit production

. From which country the Fundamental Duties
have been adopted?
(a) America

(b) Union of Soviets (Russia)
(c) Japan
(d) France

. Right to freedom is mentioned in which article of
the constitution?
(a) Article 14-18

(b) Article 19 -22
(c) Article 23-24
(d) Article 25-28

. Under which article is the Supreme Court

empowered to issue writs?
(a) Article 226

(b) Article 32
(c) Article 35
(d) Article 31

. What is the minimum age limit to become a

member of the Legislative Assembly?
(a) 21 years
(b) 25 years
(c) 30 years
(d) 35 years




. IdT eTeT el fhad gaefad g7 . Ratan Tata Trophy is related to?
(a) fohehc (a) Cricket
e (b) Badminton
(b) . (c) Football
(c) Pcare (d) Hockey

(d) &iehr
. Santosh Trophy Cup is related to?
A g FO Ry geEfed ¥ 2 (a) Football
(a) WTT’T (b) Cricket
2 (c) Badminton
(b) W (d) Table Tennis
(c) SsfFca

(d) ¢aer cfad . What is the full form of 10C?
(a) Indian Olympic Committee
. 10C =1 1ZI;U‘r T FTE ? (b) International Olympic Competition

(a) sf3Te 3nfafts HAS (c) International Olympic Committee

(b) ST 3NfeilteE Feadee (d) none of the above

© ) QW . . How many players are there in a side in water
@ A PG A polo game?

(@ 5
. gTediell Tl & Ueh UeT H Qenfsar fr (b) 9

T fohetelt gl & ? (c) 4
@ 5 (d) 11
(b) 9
(c) 4
(d) 11

. In which year was the Nobel Prize started?
(a) 1900

(b) 1901
. e GRSHR AT IR ey ¥ g3 2 (c) 1904

(a) 1900 (d) 1906

(b) 1901

(c) 1904

(d) 1906 . Pulitzer Prize is awarded for outstanding work in

. JidicoR oo fohd &7 # 3cpse &1 & which field?
ToT versT fHar Srar § 2 (a) Science and Technology
(@) faamer 3R wefarhr (b) Literature and Journalism
(b) ®igeT 3R TTHIRAT (c) international understanding

(c) AHARTAT T I (d) Environmental Studies
(d) JITEROT 3R]

¢ . In which year the Central Reserve Police Force
. erd Rerd gfeg def &1 TU19= fohe a¥ _
X, was established?

o)

G 1936 (a) 1936

(b) 1937
(©) 1938 (b) 1937

(d) 1939 (c) 1938
(d) 1939




78. TAGUT AUl Jear 3eard fohed o

T FABY & 7ALY AT FAr Srar g 2
(a) AT 3R W

(b) YR 3R g

(c) & 3R ST

(d) gf&oT IREr AR SaE

. TAFT &I AT W &l IR Ggaot drell F27H
HRAT Ao

(a) TR=ER

OEEECIRE

(c) A Jea

(d) Ta@T =T

. 9RA & Afae e aer Feker aoar
U JTIET

(a) o8 SHR

(b) @8 ST

(c) WS ol

(d) 98 AScde

BT gcg 99 arell 9¥H ARA™ Afgern
(a) qar wRAT

(b) gieHaT A=

(c) TIg=T e

(d) SfeRrdr 37ararer

82. T BIET 7Y §

(a) Felr QY
(b) ¥ =1Er

(c) ST =Ter
(d) #rer 7Sy

. T & T §
(a) ATer

(b) fF

(c) srmer

(d) 3rEar

78. Samudra Shakti bilateral military exercise is

organized between the armies of which
countries?
(a) China and France

(b) India and Indonesia
(c) Russia and Japan
(d) South Korea and Japan

. The first Indian woman to reach the summit of

Everest twice

(a) Meenakshi
(b) Bachendri Pal
(c) Santosh Yadav
(d) Sikha Rani

. The last British Governor General of India and

the first Viceroy

(a) Lord Dufferin

(b) Lord Canning

(c) Lord Curzon

(d) Lord Mountbatten

. First Indian woman to become Miss World

(a) Rita Faria

(b) Sushmita Sen
(c) Luina Feige

(d) Inshita Agarwal

82. The smallest river is

(@) Majuli River
(b) D River

(c) Kosi River
(d) Nile River

83. The capital of Bhutan is

(a) Male
(b) Thimphu
(c) Bogota
(d) Oslo




84. qu‘;ﬁ F @WRar i & 84. Who is the author of the amphitheater
(a) STO 9HIG (a) Jaishankar Prasad
(b) Ielg 94TG (b) Rajendra Prasad
(c) M g (c) Munshi Premchandra
(d) fasoy <& (d) Vishnu Sharma

. HATSET HH IS & AEATe HEl &
(a) StoAar
(b) aTRIITe
(c) 5=
(d) ofecaeT

85. Where is the headquarter of International Labor
Organization
(@) Geneva
(b) Washington
(c) Burn

. Rateax &1 sfaser fhaer fomam (d) London
(a) Tred dleE
(b) TS Y 86. Who invented the revolver
(c) TATeH TR (a) Charles Torbah
(d) ATRfAT (b) Wright brothers

(c) Charles Tarber
. foreg gedr feaw & Hemar Srar § (d) Marconi

() 21 &g
(b) 22 373 87. When is the World Earth Day celebrated?
(c) 24 39 (a) May 21
(d) 24 7S (b) 22 April

| T & TUH IHEHT AT FieT T 2 (c) April 24

(a) & 3T 3EEHT (d) May 24
(b) ST & FHTelre
() S & AT 88. Who was the first Lok Sabha Speaker of India?

(d) eITAT TG AGSI (@) B R Ambedkar
Y (b) J B Kriplani
. HHE & T qAH AR T & oGh (c) GV Mavalankar

ST & ? (d) Shyama Prasad Mukherjee
(a) 3Rfdec Oy

(b) AT STTae 89. Who is the author of the book 'Three Decades of
(c) &&T

Parliament'?

(d) 3RET (@) Arvind Ghosh
(b) Charles Darwin
(c) Rousseau

(d) Aristotle




90. The money which can be obtained at low interest

rate is called

(@) hot money
(b) hard money
(c) cheap money

(d) call money

. Who started the ‘Bhundan Movement’?
(@) Mahatama Gandhi

(b) Subhash Chandra Bose

(c) Vinoba Bhave

(d) Sardar Patel

. Who did give the slogan of ‘Jai Jawan Jai Kisan’
(@) J.L. Nehru

(b) M.K. Gandhi

(c) Lal Bahadur Shastri

(d) A.B. Vajpai

. Who founded the Banaras Hindu University?
(a) Gopal Krishna Gokhale

(b) Madan Mohan Malviya

(c) Moti Lal Nehru

(d) Mahatama Gandhi

. Who introduced the ‘Rakhi Festival’ in Bengal in
1905?

(a) Rajendra Prasad

(b) Rabindra Nath Tagore

(c) Swami Ramakrishna

(d) Swami Vivekanand

95. Which of the following statement is incorrect

(a) National flower is lotus
(b) National bird is peacock
(c) National animal is tiger

(d) National animal is cow

90. 98 &7 ST A STl &I W e fhar &

gohdT g, Fgaldl &
(a) e T

(b) i dar

(c) T&aT S

(d) 99 gemsnw

. Tl 3fieleleT fohae & fohar um

(a) FGTCAT el
(b) G g &1
(c) e oma
(d) EER 9ol

ST FaT JT fRAe ' & aRT fhae e

A7

(a) ST AgE

(b) TH.&. e

(c) ool SgTgY AT
(d) T.&Y. greaAr

. §IRE iq faeaidearery i TU9eT e

Fr?

(a) FNCTST HSUT TGS
(b) AC A ATTA
(c) Al oTeT Ag®
(d) FHETeAT e

L1905 & darer H LT Hleda' I BINA
foneray st o

(a) Tl 941G

(b) g AT &R
(c) FETHT THGSIT
(d) Tarer fadwre

. rAfaf@d 7 @ @l a1 FUA Tl §

(a) TSI el FAA §
(b) TS walt AR §
(c) TG ax[ 9TE §
(d) TSQT 9 AT &




96. Which of the following fact is wrong about

national flag?

(&) Tricolour

(b) Saffron at top

(c) Ratio of width to length is 2:3
(d) Chakra has 20 spokes

97. Which one of the following statement is wrong:

(a) Hindi is official Language of union

(b) 18 other languages are recognised by the
government including Hindi.

(c) The word Satyameva Jayate is taken from
Mundaka Upnishad

(d) National calendar is Vikram Samvat

98. The national calendar of India is:

(@) Gregorian

(b) Vikram Samvat
(c) Hizari

(d) Saka Samvat~

99. Which of the following fact is wrong:

(a) There are 28 states in India

(b) There are 8 union territories including Delhi

(c) The largest in area is Rajasthan and smallest
is Goa

(d) The longest is Madhya Pradesh

National Aeronautical Laboratory is situated
at:
(a) Hyderabad
(b) Delhi
(c) Bangalore
(d) Kolkata

96. fFATaT@T H & &l @ 2T T e
& aR & T &2
(a) faam
(b) iy W HE
(c) TISTS & SIS ol 3HeJUlcT 2:3.%
(d) Tk & 20 hforr &

97. AT & & HiaT T HUA I d &
(a) TEST TT Fr TSTHATYT &
(b) e Afed 18 3= A3 & TN
CaRT AT 9o g
(c) TcIAT S Ase; Hseh 3ufave & foram
I 7
(d) TSI FelsT fashe dadr &

. HRA & TS $hoisT &
(a) JMRIA

(b) fasd dad

(c) feerlr

(d) e Had ~

99. AFff@d & & a7 &1 T el &
(8) AR H 28 TT §
(b) feeelr Tiea 8 &g wrf@a uer &
(c) &F%el H T 3T T 3R Fad
BICT JMaT §
(d) TET IFaT FET USU ¢

100. ISET dATTART FIERmeT U §:
() gexmETe
(b) feeelr
(c) STER
(d) Srefehrar




Section 3 Science

101.  The space between the particles of matter is

called

(@) nuclear holiday

(b) inter electronic leave
(c) internal holiday

(d) inter-protanic holiday

102.  Some steel balls are kept in a boat floating in

water. The balls are thrown one by one into the
water, then the water level

(@) will be refracted

(b) will increase

(c) will fall

(d) first rise then fall

103. The wvalue of which of the following

guantities can be zero or negative?
(a) Distance

(b) displacement

(c) (a) and (b) both

(d) Time

The initial velocity of a particle is 10 m/s and
the acceleration is 2 m/s2, then the distance
covered by the particle in 5 sec will be
(@ 1Im
(b) 19m
(c) 5m
(d) 75m

Which of the following is the equation of

motion

@ v=u+at

(b) s =ut +%at2

(©) v2=u®+2as
(d) Above all

101. ST & HUN & §1F T Red AT

hgelldl &

(a) 3o ATTAPIT HTA
(b) 3T=d: SoFCIeleh AT
(c) 3ATeaeh 3Tl

(d) 3td: dierfae 3raehrer

102. STl H Rl forely arg & €& f F

103.

104.

105.

I T § | IS TH - T Fh STT H e
STl §, a9 STl TR

(a) 3rafcd Tgam

(b) 51 S

(c) R Srem

(d) Tger s R O Sem

fAefaf@a & @ fra it &1 A =T
37T FUMcHSD 8 bl § ?

(@) g

(b) Treemae

(©) @@ (b)art

(d) @577

TUeh FUT & UIiFHE 91 10 H/AFHs q2r
HSTS 2 F/AHs’ §, ol 0T arl 5 Ahs H
da v grem

(@) 1 &Y

(b) 19 #Hr

(c) 5 &

(d) 75 #r

PR & @ I &1 aaeor ¥
@ v=u+at

(b) s=ut+%at2

(c) v2 =u®+ 2as

(d) 3RFT g




106. A constant force produces an acceleration of
0.08 m/s2 in a mass of 0.6 kg g, then the
magnitude of the force is
(a) 0.048 Newton
(b) 4.8 Newton
(c) 48 newton
(d) 0.48 Newton

107.  Which of the following physical quantities
represents impulse?
(&) change of momentum
(b) Force
(c) torgque
(d) moment of inertia

108. At what height above the surface of the earth,
the value of acceleration due to gravity will be
36% less than the acceleration due to gravity on
the surface of the earth, if the radius of the earth
is 6400 km?

(@ 1200 km
(b) 1600 km
(c) 2000 km
(d) 3200 km

109. The value of the universal gravitational
constant on the surface of the earth is Ge and that
on the surface of the moon is Gm.

(@) Ge=6Gy
(b) Ge<Gn
() Ge>Gn
(d) Ge=Gp,

110.  The value of g on the surface of a planet
depends on
(@) only on mass
(b) only on the radius of the house
(c) on both mass and radius
(d) neither of the above

106. PIS 3R I 0.6 Fal ITH geTH AT &
frdY & 0.08 H/A? &F AU 3cUeod AT g,
ar o T IRATT §

(a) 0.048 7T
(b) 4.8 e
(c) 48 =g
(d) 0.48 =geeT

107. T 7 & Fia-4r Hifde Wi 3mder Fr
forefa e § 2
(a) TAIT IR
(b) S
(c) el 3rguT
(d) STSca 3rET

108. gl & AAg § Fhcell FA$ W S
W IEcdI ca’OT AT g2l T Fclg &
e 0T ¥ 36 % A g e, Afg

cgza“raﬁrﬁ?mmoomfr%?

(@ 1200 km
(b) 1600 km
(c) 2000 km
(d) 3200 km

109. g Y Flg W FrAHE Jocard
fSadre &1 A G, JAT TogaAT F Tdg W

Gng ar

(@) Ge=6Gn
(b) Ge< G
(c) Ge>Gpy
(d) Ge=Gnp

110. Y 76 T Fdg W g F A AW
AT &
(a) Aol geIATT T
(b) Fael IE @ B
(c) geTdATT g 3T gl uX
(d) 3WRed H T FIS A8




111.  If the kinetic energy of a moving body is

equal to its linear momentum, then calculate its
velocity.
(@ 1m/s
(b) 2m/s
(c) 3m/s
(d) 4 m/s

112.  The kinetic energy of a spring is maximum

in the following condition
() inastretch

(b) in the middle

(c) in compressed state

(d) in a motionless position

Power of Shakti is Rashi
(a) scalar
(b) Vector
(c) realm
(d) None of these

In which method of heat transmission DR is
maximum?
(@) driving
(b) convection
(c) radiation

(d) equal inall

The amount of heat required to change the
state of an object without increasing its
temperature is called
(a) specific heat
(b) angry heat
(c) free heat
(d) latent heat

111.  3fe frdr sifaae 3 & afas 3T
3% YT HAT & &R g, ar 38k qT
Y T T |
(a) 1 #:&

(b) 2 #F&
(c) 3 #H/&
(d) 4 #:&

112.  ws f&uer & afasr 390, 3T
fArfoiaa Rafy & 3fsaa adr g
(a) Ty Rafar &

(b) FEIHATT Eary &
(c) Edfsa Eafar #
OEIGRGRIGIEE:]

113.  afFa & I wel §
(a) 3ifeer
(b) afeer
(c) gfcer
(d) 378 & @IS QT

114, FsAT HRoT &7 3 foog fafr &
3ifhad gt & 2
(a) dTetet
(b) Hagl
(c) fafeor
(d) T3 F =T

115. forel areq & a & 3fg foma faam,
SHGT 37aEAT IRAdT & AT 3maTys FeAT
HI AT Fgelldl g
(a) TAfArse FeAT
(b) FaTdT FeAT
(c) HAFT FAT
(d) I FeAT




116.  When both the source and the observer are in

motion, then the rule for finding the non-
permanent change in frequency is

(a) doppler's law

(b) resonantly

(c) resonantly

(d) None of these

117. The speed of the wave depends on the

product of two quantities, one of them is
wavelength and the other will be

(a) quality of sound

(b) pitch of sound

(c) frequency of sound

(d) All these

The inclination between two plane mirrors to
obtain 3 images of an object will be
(a) 45°
(b) 30°
(c) 60°
(d) 90°

The amount of light reflected off a surface
depends only on
(@) on the optical medium
(b) on the light source
(c) on the nature of the page
(d) None of these

The color of the sky appears blue
(a) due to the light
(b) due to refraction of light
(c) due to scattering of light

(d) Due to full internal enforcement

116. S #d Ug 9eTe gial AfaAeT &, ar
3mgfer # 3remel IRacs AT el HFawe
e &

() ST9eR T oI
(b) gfaeafs &
(c) 3iefele @
(d) 318 | FIg ALk

117 T &Y Grel ST gy TRt & IJ[oreathel
R AR AT §, 397 T T TRl @y
¢ 3R @l W g
(a) Eafer T IroTr
(b) €afer fr darRea
(c) &=t &hr 3mgfcd
(d) o Tafr

118. Ush dd & 3 gfafaes gred ot &
T e dade euor & & gl gem
(a) 45°
(b) 30°
(c) 60°
(d) 90°

119. Tl 955 @ wrafdd gehmr & #m
fTeR & &
(a) TTTh ATEIHA W
(b) JeRT BT 9T
(c) g5 &I Fhfd W
(d) TR & IS QT

120.  3TEHTA T 1T el @S &ar &
(a) TRIT & Fdciel & HRUI
(b) USRI & 39 & HRUT
(c) TRIT & YehIuTal & SHROT
(d) 9T 3TedNeh Facel & HROT




121.  Kidneys are found in birds
(@) one
(b) two
(c) three
(d) four

122.  Which of the following is an animal tissue?
() epithelium, scaly, muscular, connective
(b) epithelium, connective, muscular, cardiac
(c) connective, muscular, epithelium, nervous

(d) cuboidal, ciliated, nodular, scaly

123.  Organisms with the simplest structure are
(@) algae
(b) fungus
(c) Bryophyte
(d) bacteria

124.  Reptile found in houses is
(a) Lizard
(b) Frog
(c) Sparrow
(d) Rat

125.  Anexample of a dicot is
(@) gram
(b) Wheat
(c) Maize
(d) Paddy

126.  In apoptotic plants
(a) Flowers may or may not be produced
(b) seeds are formed in push and fruit
(c) flowers are not produced

(d) Flowers, fruits and seeds are not formed

121, 9TiErdt # geFh WIT ST &

() T
(b) ar

(c) e
(d) IR

122, AFATARAT & @ HlT-§ S 3 & ?

(a) TRAfAfoTs, e, Tfy, HAST
(b) TTuffor®, @aeh, o, FEs
(c) TS, 9y, viafdfos, dafFer
(d) TR, geFsY, Ty, rehr

123. T WAdH 3T aTd S0 d &

(a) Aarer

(b) Fasm

(c) SRS
(d) Sfraror

124. €RY # R S aTell TG &

OREXETI
(b) Heh
(c) T
(d) =L@T

125, EfaEoTa= &1 3cERT &
(a) ==

(b) g

(c) HeFT

(d) &t

126. 3791UITgEr grear &

(a) 7 3ot gra off & 3N i off g &
(b) 9T Ud BT H dIsT T B

(c) T9 3cUe=T a6l BId &

(d) 59, el TF oISt G Sl §




127.  What are the necessary conditions for
photosynthesis?
() light and heat
(b) pranharim and water
(c) CO,
(d) all these

128.  Respiration takes place
(@) only in green cells
(b) only in colorless cells
(c) insome living beings
(d) in all living beings

129. In vegetative reproduction new plant is
formed
(@) from stem, root, and flower
(b) stem, root, and leaves
(c) stem flower and fruit
(d) from stem husks and flowers

130.  Required for sexual reproduction
(&) meiosis
(b) mitosis
(c) Kaliutpadan
(d) None of these

131.  The length of trachea in adult human is
approximately
(@ 30cm
(b) 12cm
(c) 45cm
(d) 5cm

132.  Which part is not included in the structure of
human kidney?
(&) medulla
(b) urethra
(c) pelvis

(d) cortex

127.  YeIQT HAWUT & foT 3mages
gRfeufaar s=ar g ?
(a) eI 3 3fefehel aTT

(b) IR 3R T
(c) CO.
(d) ¥ Tsir

128. ead foram @It &
(a) hao gRA HIRAPIAT F
(b) Ao FTEIT HITABIAT F
(c) T siifad Sfar &
(d) @efr Shifaa Shar &

129. HIAH Yoleddd H AT Ueq FT fHATOT
g &
(a) &, 18, AR $oT &
(b) J=T, 313, 3R fcadt §
(c) T Hol AR ®T &
(d) dar afat 3R oo &

130, oifdrd ST & o 3METS §
(a) e feaTate
OEGEREEIRT]
OKIGEIRCG]

(d) 3T & HIS FEr

131. <TEH HAlGd H QGTTTN el JFeT gidr

g, oTITeaT
(@ 30cm
(b) 12 cm
(c) 45cm
(d) 5¢cm

132. AT & gefh I HIGAT H hicT-HT a7
gfEAfed w8 § ?
(2) Agge
(b) FFATN
(c) dfeaq

(d) TeFT




133. By which structure does the gestational fetus
receive nutrition from the mother?
(a) blood vessel
(b) Oval
(c) stomach
(d) oviduct

134.  Test tube baby means
() Fertilization and development both in the
uterus
(b) fertilized and developed embryo in the test
tube
(c) fertilization in vitro and then uterus
(d) baby grown in a test tube

135.  False statement for modern man is
(a) Prognathus mouth
(b) volume of the cilia cavity
(c) alittle fully developed
(d) omnivorous

136.  The disease caused due to deficiency of folic
acid in humans is
() Pellagra
(b) Megaloblastic amnesia
(c) Beri-Beri
(d) Dermatosis

137.  Influenza virus is
(@) Orthomixco virus
(b) retro virus
(c) Toga virus
(d) Rhabdo virus

138.  Virus caused disease is
(a) Tetanus
(b) cholera
(c) TB
(d) Hepatisis

133,  ford WX GaNT UHTEY T AT A
9IYUT 9Ted T & ?
(a) TR arfgsir
(b) 3iTarer
(c) AR

(d) 3sarfgar

R@Ael RAY @1 AT &
(a) T qur faeerer gt sy &
(b) ST AR fahfad o1 Waetell &
(c) fvaer 31 faer 3R T aremmer
(d) SR@eTell H gl fRre

YA AT & AT IHT HYA ¢
(a) ezl qG
(b) FITIAT I[ET I T
(c) ASr &1 qut fassfad g
CRESY

136. HIST # Wifclsh 3Fcl T HaAl § Iceed
gy aTell 9T §
(a) delmam
(b) AdMMellselTiEds TiATAAT
(c) s{-adr
(d) sHfczaa

137. 3=FeIUST 1 fasToy &
(a) 3rffFeTsr a—Re
(b) X1 aRRH
(c) SR arRA
(d) TGSt AR

138. aRRY SIfAd 9T §
(a) feeaa
(b) g
(c) Erar
(d) feafczaw




139. Polio virus is transmitted by
(a) By the bite of a sea-makhi
(b) by the bite of the letter
(c) contamination of food and water
(d) Vaccination

140. Syphilis is caused by
(a) bacteria
(b) Virus
(c) Funzai
(d) Both (a) and (b)

141. The smallest particle of a substance that can
exist in a free state is
(@) atom
(b) Molecule
(c) matter
(d) All these

142. When three gases A, B, and C, which are 1, 2
and 3 moles respectively, at the same
temperature and pressure, which gas will occupy
the largest volume?

@ A
(b) B
(c) C
(d) All these

143. Relative mass of electron is
(a) 1/1837
(b) 1/183
(c) 1/18
(d) 1/18367

144. ;H* is named
(a) Protium
(b) Deuterium
(c) Tritium

(d) proton

139, Y fASTUT T HHAUT BT &
(a) T4 ATET & FreT T
(b) HAER & FIcal T
(c) HISTeT AT STel & HGWOT &
(d) ErPTHIoT |

140. FAfRTAE 1 HROT &

(a) Sfraroy
ORELLL
OREIS
(d) a1t (a) @ (b)

141. R8T 9eTd @1 g8 GEAH HOT S T
HIEAT H E THaT ¢
(a) 9XHTI]
(b) 3791
(c) &=F
(d) & Tl

142. 519 HAT a9 9 g1 W i | A, B,
3R Cc AfF waA: 1, 2 31k 3 AT AT §,
ar SiF-4r 3 e SAET 3Add AT
HLM?

(@ A
(b) B
(c) C
(d) & FsiY

143. Soigclel T TUf&S geTaATT &
(a) 1/1837
(b) 1/183

(c) 1/18
(d) 1/18367

144, H* FT ATH §
(a) WfeTs
(b) 3aRTH
(c) gfeam
(d) Srer




145. Who propounded the elements on the basis of 145. 9THTIT AR & 318X 9 dear o e &
atomic mass in trick? ﬁ,,—\qﬁoqﬁ'q]ﬁﬁ Har ? )
(@) Mendliff (a) Fefow
(b) Newland (b) PJ‘?E'
(c) Mojale (c) FsTer
(d) Dobereiner (d) GERAT

146. 07 & & 3dd ARON H HiA-AT dcad
3fRTH Felorelel ST WA § ?
(a) 3iTerdrsTel
(b) Fef3IR
(c) Feliket
(d) FTerre

146. Which of the following elements of the periodic

table has maximum electron affinity?
(@) Oxygen
(b) fluorine
(c) chlorine

(d) calcium

147. HaTROT §
147. Corrosion is (a) #Ag 3iterdaor

(a) slow oxidation
(b) rapid oxidation (OIGIEEIELIERI

(c) reduction (c) 39=rg=T
(d) Ferrous sulphate (d) BH Hethe

148.The mass of carbon and oxygen in carbon 148. FIeT AGINFASS H Pled dUT T
monoxide are respectively T GIATT A §
(a) 12 grams, 16 grams (@) 123amH, 16 IATH
(b) 12 grams, 32 grams (b) 12 9H, 32 AqTH
(c) 32 grams, 12 grams (c) 32 A, 12 IJ1H
(d) 30 grams, 20 grams (d) 30 ImH, 20 I1H

149. fTasheaIf®Iar (Rancidity) T $ROT §
149. The cause of Rancidity is (a) 3

(a) oxidation (b) 3rTTT

(b) reduction (©) B
(c) TeomEg (d) ST

(d) neutralization
150. 3T STel &l T e &, Ffh
150. Heavy water is called heavy because (a) SHH TSIl T H FATYAS grar
(a) It contains a heavy isotope of hydrogen g
(b) Itis an oxide of myrrh (b) TE GARTH &1 HiFarss §
(c) Its density is more than that of ordinary water (C) ST Helcd HTEROT STl A 3w g

(d) it emits a strong odour 3

(d) SHF & oY gefeer amelt &




Answer Key

Section 1 ENGLISH

1(C)

2(B)

3(A)

4 (B)

5(A)

6 (D)

7(B)

8 (D)

9(C)

10(C)

11 (A)

12(D)

13(D)

14(B)

15 (A)

16(A)

17 (C)

18(D)

19 (A)

20 (A)

21 (C)

22 (C)

23 (A)

24 (D)

25(B)

26 (C)

27(B)

28 (D)

29 (B)

30 (C)

31(C)

32 (C)

33(C)

34 (A)

35(B)

36 (B)

37(B)

38 (A)

39 (B)

40 (C)

41 (C)

42 (A)

43 (D)

44 (A)

45 (C)

46 (A)

47 (C)

48 (C)

49(A)

50 (A)

Sect
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51(D)

52(A)

53(A)

54 (D)

55 (C)

56 (A)

57 (A)

58 (C)

59 (B)

60(B)

61 (B)

62(C)

63(A)

64(B)

65 (C)

66(B)

67 (B)

68(B)

69 (B)

70 (B)

71 (D)

72 (A)

73 (C)

74 (C)

75(B)

76 (B)

67(D)

78 (B)

79 (C)

80 (B)

81 (A)

82 (B)

83 (B)

84 (C)

85 (A)

86 (C)

87 (B)

88 (C)

89 (D)

90 (C)

91 (C)

92 (C)

93 (B)

94 (B)

95 (D)

96 (D)

97 (D)

98 (D)

99(D)

100 (C)

Section 3 Science

101 (C)

102 (C)

103 (B)

104 (A)

105 (D)

106 (A)

107 (A)

108 (B)

109 (D)

110 (C)

111(B)

112 (B)

113(A)

114(C)

115 (D)

116 (A)

117(C)

118 (D)

119 (C)

120 (C)

121(B)

122(C)

123(D)

124 (D)

125 (A)

126(A)

127(D)

128(D)

129(B)

130(A)

131(B)

132(B)

133(B)

134(C)

135(A)

136(B)

137(A)

138(D)

139(C)

140(A)

141(B)

142(C)

143(A)

144(A)

145(D)

146(C)

147(A)

148(A)

149(A)

150(A)




